
ProStrap System
 for Yokomo YR-4 M2Pro

and J-Type

Part Number: P1702

1230-P  N Jefferson Street Anaheim CA 92807 • 714.630.9015 • 714.630.6250FAX • http://www.penguinrc.com

4/2 Battery Configuration  3/3 Battery Configuration

©1999



Shaded Images are existing parts
M3x6 Panhead Screw

(x8)
M3x8 Flathead Screw

(x2)
M3x6 Flathead Screw

(x2)
M3 Nyloc Nut

(x2)
M3 Jam Nut

(x10)
M3 Washer

(x12)

Hook

Hook

Other parts included:
Graphite Plates (x3)
Velcro™ Straps (x2)

and Aluminum Post (x1)
P

art 1

P
art 3

P
art 2Loop

Loop

Velcro™ Strap Cutting

M160

M115M40

4/2 configuration:

1. Cut Part 1 off of each strap
2. Cut Part 2 from hook end of
    one strap (M115)
3. Cut Part 3 from hook end of
    the other strap (M160)
4. Cut or punch holes (   ) M5
    from end, M7 apart, as shown

3/3 configuration:

1. Cut Part 1 off of each strap
2. Cut Part 3 from hook end of
    each strap (M160)
3. Cut or punch holes (   ) M5
    from end, M7 apart, as shown


